
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

3rd Month, 4th Week, 2nd Day Exercise 2.10 + 2.11 Complete

 Answer the following questions:  
Q.1. Convert the following equations into standard form:     (1x2=2)


(i)

(ii)

Q.2. Construct the following statements into linear equations in two

variables.           (1.5x2=3)



(i) If numerator and denominator of a fraction are decreased by 3, the

fraction becomes by .

  3 

(ii) The sum of 2 times of 1st number and 3 times of 2nd number is 30.

 30 
Q.3. If four is subtracted from two times a certain number the result is 10.

What is the number?              (1x2=2)

 10 
Q.4. The sum of three consecutive integers is 123. What are the integers?

             (1x3=3)

 123 
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